
 
 

Model Paper Mathematics Paper – XI  
ٳہ લ د䮨۔1    ǘɟدا 㑔وا ٳے د䞀 㐖 䥞، ✜ف ✔ ᣅاب  ǘɟر داᨴ 䁠⁩ ㈉ ال␰ ٳ Ǐɝ۔  

 2 ⚿ 〨 ٳوں ǘɟ۔دا)䗂લ ( ⵇ  ǔ˟ ا⃵ل ⸗䮨۔ 㩕ر⸗ǎ˄ 䖤 㦆 ㈉ٱ 㩔ⵇ ر  
ٳے ᣅ ╌ 䗂લاب ⨾ ሊر ㈊䜫۔3     ǘɟدا 䯏زا ╌  ǎا׏ 䆀 ابᣅ۔  
Time Allowed: 20 Minutes  SECTION – A Marks : 20 

  

1 If Z = a + ib then |Z| |–Z| = …………   |Z|  |Z|2  |–Z|  | Z | 
          

2 The matrix A has an inverse if A is 
…….. matrix.   Square   Singular  

None 
Singular   Rectangular 

          

3 (–i)–19 = ……..  i   –i  1  –1 
          

4 

2 3 1 4
0 5 2 1

If A then | A | .................
0 0 3 2
0 0 1 4

 
 
  
 
 
 

  30  60  80  120 

          

5 A unit vector in the direction of the 
vector 4i–3j is ………..  

4i 3j
5
   

4i 3j
5 5
   

4i 3j
25
   

4i 3j
25
  

          

6 
If , ,  are the direction angles of a 

vector r, then 
2 2 2

y
x y z 

= ……..  Cos   Cos   Cos   Sin  

          

7 If i, j and k be the unit vectors then 
i.kj=…………  j.i.k  k.i.j  j.k.i  ji.k 

          

8 The nth term of the sequence 
1,5,9,13,………is …………  3n – 2   4n – 1   4n – 3   4n – 2  

          

9 The sequence where t1=1 and 
tn+1=Tn+(n+1),n = 1,2,3,….. is called…..  

Factorial 
sequence   

Triangle 
number 
sequence   

Pascal 
sequence   

Arithmetic 
sequence  

          

10 The number of functions defined on n-points if 
each functional value is either ‘0’ or ‘1’ is ……  2n–1   2n   2–n   2n+1  

          

11 If A and B are independent events then 
P(A   B)=   P(A) – P(B)  P(A) + P(B)  P(A)  P(B)  P(A) P(A/B) 

          

12 n4 > 3n2 + 2n + 1 is true for ………  n  1  n  3  n  2  n  4 
          

13 K 1
0
 

 
 

=……………  
K
1
 
 
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K 1

1
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 

 
          

14 The function f(x) = 3x + 7 is ……..  Even   Odd  
Both even 
and odd  

None of 
these 

          

15 The solution set of 2x + y < 5 is …….  (3, –2)   (3, 2)   (4, –1)   (–1, 8)  
          

16 3Tan
2
    

 
……………  Cot    – Cot   Tan   – Tan  

          

17 The reciprocal of the period is called …..  Wave length  Amplitude   Frequency   Time period  
          

18 Period of 1
2

 Tan 3x is ……..  3  3
   

3
2
    

          

19 In half angle formula (S b)(S c)
bc

 
 …..  Sin

2
   2Sin

2
   2Cos

2
   Cos

2
  

          

20 If Sec–1 2 =  then  = ….……   0,
2
   

 
  0,

2
 

  
   30,

2
     

   0, 2
2
    

 
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